















Dryer Vent Cleaning Products

Dryer vent cleaning is a great business opportunity as a stand-alone business or as an add-on service for any air duct cleaning contractor. Most homes, condos, apartments, hospitals, laundromats all need annual or periodic dryer vent cleaning. Cleaning dryer vents helps prevent dryer fires (a big safety issue) and improves dryer efficiency (reduces dryer energy usage).

Vac Systems International offers you a full selection of products specifically designed for dryer vent cleaning.

- Air and cable driven cleaning tools.
- Electric and gas air compressors.
- HEPA filter wet/dry vacuums.
- Lint Alert Dryer Safety Alarm.
- More!

Air Driven Cleaning Tools



The Super Dryer Vent Cleaning System gives you a set of cleaning tools that allow you to clean dryer vents from the outside or inside. These systems take the air from your air compressor and deliver effective cleaning force through the various air nozzles.

1-SDV01 **25' Super Dryer Vent Cleaning System** (1/4" airline fittings) .. \$ 375.00 Outside Cleaning Tools

- (1) 25' blue hose with reverse air nozzle
- (1) 25' blue hose with reverse spinning air nozzle
- (1) Ball valve on/off control assembly

Inside Cleaning Tools

- (1) 25' dryer vent snake
- (1) Reverse spinning air nozzle assembly
- (1) Forward spinning air nozzle assembly
- (1) Forward air nozzle w/coupler
- (1) Reverse air nozzle w/coupler
- (1) Spinning brush
- (1) Thumb valve on/off control assembly

Accessories/Replacement Items

2-SDV01	25' blue hose with reverse air nozzle\$	60.00
2-SDV02	25' blue hose with reverse spinning air nozzle\$	85.00
2-SDV03	25' dryer vent snake\$	50.00
2-SDV04	Reverse spinning air nozzle assembly\$	47.00
2-SDV05	Forward spinning air nozzle assembly\$	47.00
2-SN04	Forward air nozzle w/coupler\$	22.00
2-SN05	Reverse air nozzle w/coupler\$	22.00
2-SDV08	Thumb valve on/off control assembly\$	24.50
2-SDV09	Ball valve on/off control assembly\$	18.00
2-SDV10	Spinning brush\$	54.00

Drill Driven Cable Cleaning Tools



The Super Cable with the nylon brush on one end and your drill on the other end gives you a <u>very good cleaning action</u> because the rotating brush makes contact with more/most of the duct surface.

2-RCB01	15' flexible cable assembly with bearing in drill end	\$ 175.00
2-RCB02	25' flexible cable assembly with bearing in drill end	\$ 225.00
2-RCB12	5" nylon brush(larger brushes also available)	\$ 37.00

Air Compressors





The Super Air Compressors deliver all the air you need for maximizing your air washing and whipping productivity. The G9, our most popular model, gives you 9hp, 175psi, 20.1 cfm, 20 gallon tank. Other size air compressors are also available.

2-AC09	Super Air G9 Compressor (175psi, 20.1cfm, 20 gallon tank) \$ 2,	175.00
2-AC02	50' x 1/4" air hose w/quick couplers (300 psi rated)\$	60.00
2-AC03	25' skipper line with reverse air sweep\$	65.00
2-AC04	25' skipper line with forward air sweep (with wire inside)\$	95.00
2-AC05	Blow gun\$	25.00

HEPA Filtered Vacuums







The 10 gallon HEPA vacuum gives you more capacity and power for larger dryer vent cleaning projects. It available as dry only vac or a wet/dry vac. The 1.75 hp motor delivers 112 cfm and 107" of lift. The special Dryer vent tool kit gives you all the tools you need.

1-HV05	10 gallon HEPA dry vac w/5 piece tool kit\$	499.00
1-HV06	10 gallon HEPA wet/dry vac w/6 piece tool kit\$	593.00
2-HV07	Replacement collection bag (6 pack)\$	13.50
2-HV08	Replacement filter protector (6 pack)\$	13.50
2-HV12	Replacement impaction filter (10 pack)\$	18.25
2-HV13	Replacement dacron filter bay (each)\$	18.75
2-HV14	HEPA filter (each)\$	160.00
2-HV43	Dryer vent tool kit\$	224.00

Forward On/Off Skipper Line



On some applications a skipper line with a slide on/off control mounted right behind the air nozzle will be more convenient and productive. Like cleaning dryer vents from the roof or from a ladder on the side of the building.

2-AC17 (1) 25' skipper line with internal wire, slide on/off valve, and air nozzle \$ 95.00

Lint Alert Dryer Safety Alarm







A home safety device that progressively monitors lint build up in the dryer exhaust duct and tells the homeowner when the dryer vents needs to be cleaned. The lint alert is easy to install and will add revenue to your dryer vent cleaning services. Most vent cleaning companies are selling an installed unit for \$75 to \$125.

1-LA01	(1) Single Unit\$	44.00
1-LA02	(1) Six Pack (6 units at \$43.50 each)\$	
1-LA03	(1) Twelve Pack (12 units at \$43.00 each)\$	
1-LA04	(1) Carton (36 units at \$42.00 each)\$	1,512.00

The optional Dryerflex combines the flexibility of foil flex with the fire resistance and airflow efficiency of semi-ridged aluminum flex. Makes connecting the dryer much easier.

	48" lengths of Dryerflex	
1-LA05	(1) Six Pack (6 units at \$5.99 each)\$	35.94
1-LA06	(1) Twelve Pack (12 units at \$5.79 each)\$	69.48
1-LA07	(1) Carton (30 units at \$5.59 each)\$	167.70
	8' lengths of Dryerflex	
1-LA08	(1) Six Pack (6 units at \$11.50 each)\$	69.00
1-LA09	(1) Fifteen Pack (15 units at \$11.30 each)\$	169.50



11950 Riverwood Drive
Burnsville, MN 55337 USA
855-Vac-Systems, 952-808-1619 , 952-808-1617 (fax)
E-mail: info@vacsysint.com Web Site: www.vacsysint.com